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Skill description: Using the distributive law to expand brackets 
containing variables with coefficients.   

Essential Revision 

1. Evaluate. 
 

−3 × 7 
 
 
 
 
 
 
 

2. Use the distributive law to 
expand. 
 

𝑝(𝑞 + 6) 

3. Evaluate. 
 

−4 × −6 
 
 
 
 
 
 
 

4. Use the distributive law to 
expand. 
 

𝑎(𝑏 − 3) 

5. Evaluate. 
 

2 × −9 
 
 
 
 
 
 
 

6. Use the distributive law to 
expand. 
 

4(𝑎 + 8) 
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7. Evaluate. 
 

−1 × −5 
 
 
 
 
 
 
 
 
 
 
 
 

8. Use the distributive law to 
expand. 
 

5(𝑥 + 7) 

9. Evaluate. 
 

7 × −11 
 
 
 
 
 
 
 
 
 
 
 
 

10. Use the distributive law to 
expand. 
 

3(𝑥 − 5) 

11. Evaluate. 
 

−9 × −2 
 
 
 
 
 
 
 
 
 
 
 
 

12. Use the distributive law to 
expand. 
 

4(𝑏 + 5) 

Solutions can be found at the end of the booklet. 

 
 



 

Ó Super 12s Visit super12s.com for copyright details. 

Visit super12s.com for more than 200 Algebra booklets just like this one! 

 

 

S T R A T E G I E S  T O  S O L V E  T H E  P R O B L E M S  
 

 
Example 1 

Use the distributive law to expand the following bracket. 
 

3(2𝑎 + 6) 
 
 
Step 1 

Multiply the 3 and 2𝑎.  
 

3(2𝑎 + 6) = 6𝑎 
 
 
 
Step 2 

Multiply the 3 and 6. As the 3 and 6 are both positive, the 
resultant is +18. 

 
 

3(2𝑎 + 6) = 6𝑎 + 18 
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Example 2 

Use the distributive law to expand the following bracket. 
 

3𝑎(𝑏 − 2𝑐) 
 
 
Step 1  

Multiply the 3𝑎 and 𝑏.  
 
 

3𝑎(𝑏 − 2𝑐) = 3𝑎𝑏 
 
 
 
Step 2 

Multiply the 3𝑎 and −2𝑐. As the 3𝑎 is a positive term and 
the −2𝑐 negative, the resultant is −6𝑎𝑐. 

 
 
 

3𝑎(𝑏 − 2𝑐) = 3𝑎𝑏 − 6𝑎𝑐 
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Q U E S T I O N S  
 

Use the distributive law to expand the 
following brackets. 

 

1.  
 

2(3𝑥 + 4) 
 
 
 
 
 
 
 
 
 
 
 
 

2.  
 

4(2𝑦 − 1) 

3.  
 

4(3𝑎 + 7) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4.  
 

5(5 − 4𝑥) 

5.  
 

9(2𝑏 + 5) 
 
 
 
 
 
 
 
 
 
 
 
 

6.   
 

7(2𝑥 − 3) 
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7.  
 

2(𝑝 − 3𝑑) 
 
 
 
 
 
 
 
 
 
 
 
 
 

8. 
 

3𝑎(7𝑏 − 𝑑) 

9.  
 

2𝑎(𝑐 − 3) 
 
 
 
 
 
 
 
 
 
 
 
 
 

10. 
 

𝑝(4𝑥 + 12) 

11. 
 

10(3 − 4𝑥) 
 
 
 
 
 
 
 
 
 
 
 
 

12.  
 

2𝑦(𝑥 − 2𝑧) 
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Solutions to Essential Revision 

1.  −21 2.  𝑝𝑞 + 6𝑝 
3.  24 4.  𝑎𝑏 − 3𝑎 
5.  −18 6.  4𝑎 + 32 
7.  5 8.  5𝑥 + 35  
9.  −77 10. 3𝑥 − 15  
11. 18 12. 4𝑏 + 20 

 
Solutions to Questions  

1.  6𝑥 + 8 2.  8𝑦 − 4 
3.  12𝑎 + 28 4.  25 − 20𝑥 
5.  18𝑏 + 45 6.  14𝑥 − 21 
7.  2𝑝 − 6𝑑 8.  21𝑎𝑏 − 3𝑎𝑑 
9.  2𝑎𝑐 − 6𝑎 10. 4𝑝𝑥 + 12𝑝 
11. 30 − 40𝑥 12. 2𝑥𝑦 − 4𝑦𝑧 

 


